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Instructions for the Candidates

Write your roll number in the space provided on the top of
this page.

This paper consists of fifty multiple-choice type of questions.
At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(1) Tohave access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.
Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.
After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the oval as indicated below on the
correct response against each item.

Example:  CAD ® >

where (C) is the correct response.

(i)

(iif)

Your responses to the items are to be indicated in the Answer
Sheet given inside the Paper I Booklet only. If you mark at
any place other than in the ovals in the Answer Sheet, it will
not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the test
booklet, except for the space allotted for the relevant entries,
which may disclose your identity, you will render yourself
liable to disqualification.

You have to return the test question booklet and OMR Answer
sheet to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall.

10. Use only Blue/Black Ball point pen.
11. Use of any calculator or log table etc., is prohibited.
12. There is no negative marks for incorrect answers.

10.
11.

12.
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POPULATION STUDIES
Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying two
(2) marks. Attempt all the questions.

Which of the following is not

correctly matched ?

(A) Hajnal’s Method : Singulate
Mean Age
at Marriage

(B) Brass Formula : Digit
Preference

(C) Reed and Merrel : Life Tables

(D) Chandrashekharan : Matching

and Deming of Events

Which among the following country
does not have Population Registers ?
(A) Sweden (B) Belgium
(C) Korea (D) India

The Whipple’s Index is used to

assess

(A) Relative preference of digits
‘0’ and ‘5’

(B) Omission of dead children

(C) Degree of ageing of any
population

(D) Failure to make entries of zero

The Census of India Act came in
existence in

(A) 1942 (B) 1945

(C) 1948 (D) 1951

Assertion (A) : Northern States have
a high population growth.
Reason (R) : Illiteracy is high in

Northern States.

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C©) (A)istrue and (R) is false.

(D) (A)is false and (R) is true.
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The doubling time (t) of a given
population with growth rate (r) is

log?
A) 1=
log,?
(B) t=—"
log,?
©) t=75,
log?
D) t="

Lexis diagram 1is a way for
measuring

(A) Migration

(B) Nuptiality

(C) Mortality

(D) Fertility

Sex-ratio of India as per 2001
Census is

(A) 929 (B) 931

(C) 933 (D) 927

Following factors are important for a
high growth rate of India’s
population :

1.  Low literacy rate

2. Low women’s status

3. Low life expectancy

4. Son preference

Find out the correct combination of
answer according to the code :

(A) 1,2 and 3 are correct.

(B) 2,3 and 4 are correct.

(C) 1,3 and 4 are correct.

(D) 1,2 and 4 are correct.
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©) t=
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10.

11.

12.

13.

Assertion (A) : Population projection
based on component method
gives better estimates.

Reason (R) : Component method
includes both age and sex
composition of the population.

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C©) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

According to 2001 Census, the
percentage of 60 years and above
population to total population is
around :

(A) 5 percent (B) 7 percent
(C) 9 percent (D) 11 percent

Among the Southern States of India,
female age of marriage is still low in
which one of the following States ?

(A) Andhra Pradesh
(B) Karnataka

(C) Kerala

(D) Tamil Nadu

Assertion (A) In India, the
proportion of aged 60 years
and above is slowly increasing.

Reason (R) : Mortality rates among
aged 60 years and above are
higher.

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.
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14.

15.

16.

According to 2001 Census, arrange

the major States of India in

descending order based on their

overall sex-ratio (females per 1000

males) :

(A) Kerala, Andhra Pradesh, Tamil
Nadu, Chattisgarh

(B) Kerala, Chattisgarh,
Nadu, Andhra Pradesh

(C) Kerala, Tamil Nadu, Andhra
Pradesh, Chattisgarh

(D) Kerala, Tamil Nadu,
Chattisgarh, Andhra Pradesh

Tamil

Match the following with the term
and names given in List-I and
List—II respectively :

List -1 List - 11
(a) Regional Model (i) Hajnal
Life Tables
(b) Singulate Mean (ii) Brass
Age at Marriage
(c) Theory of Stable (iii) Lotka
Population
(d) P/F Ratio Method (iv) Coale-
Demey
(v) Sheps
Codes :

(@ () () (@
A) Gv) (1) (i) (i)
B) @ aGi) () @v)
© @Gy @) (v) @)
D) ) @Gv) (i) (i)

Assertion (A) : Age at marriage of
females is steadily increasing
in India.

Reason (R) : Proportion of females
getting higher education is
increasing in India.

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.




10.

11.

12.

13.

SHIT (A)  : STHEEAT T U901, S
T fafer (component method) W™
MY 2T &, ¥ JecRk Sher I
BE |

T (R) : 79 fofer § ST it o7y 31k
form = ot forem st &

(A) (A) 3R (R) THT W& € 3R (A)

1 (R) T&l TR0 E |
(B) (A) 3R (R) T Wel &, ] (A)
%1 (R) Tel Tl &1 € |
(C) (A) TEe, W< (R) T & |
(D) (A) T &, W (R) T & |

T 2001 T SFITUAT & SFEAR 60 I AT
THY IR I AT I FoA STAEEAT

TieTSTae T fehert ot 2

(A) 5w (B) 7 wiawra

(C) 9 ufeerd (D) 11 wfcerd

ARG | S0 & U § 9 foRw s "

h-ferae =t o11g o1 oft freT & 2

(A) 3T RS

(B) ieh

(C) A

(D) THAS

AHTT (A) : YR H, 60 T 37eT
Y T % A & S F 4R 4R
FEEAEE |

TP (R) : 60 T I 3TY SN T Bl G
IR LA |
(A) (A) 3R (R) ST &l & 3% (A)
%1 (R) T& WL E |

(B) (A) 3R (R) I Wl &, W] (A)
1 (R) Tel T &1 € |

(C) (A)WE&, <] (R) T |
(D) (A)7TeTd & W= (R) el T |
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2001 } STRTUMT % AR, YRA & T S

TSI | el TR ST (U 1000 gE§T

T fordT) & YR W 3% STaRE! A §
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(A) A, Y USD,  ANHATS,
SAATE |

(B) W, BUGTE, AT, ST
I |

(C) A, difbeHrg, oY TR,
TATE |

(D) A, mﬁm , DUETE, Y
TR |

TEr - 1 (%) R get — 1 ¥ 53 T
T H gHeA 3T
T -1 T -11

(a) ST AEASIET (i) &
Rt

(b) Toae o w7 wher
HIE 31

(c) STE = T
s

(d) dv/as st fafy

(i) s
(iii) e

(iv) HiA-sH
(v) ¥

E &
@ M © @@
(A) (v) () @i) (i)
B) @) @i () @Gv)
©) G @) (v) @Gv)
D) (v) (@v) (i) (i)

Aepe (A)  : WRA § f&rEt & foame
1 3G H IR-4R g & @ T |
@b (R) : 3T9 T91eT v o | o
I TG @TE |
(A) (A) 3T (R) IHT Tl € 3R (A)
T (R) T&l TR E |
(B) (A) 3R (R) I Wl &, W (A)
%1 (R) Tel Tl &1 € |
(C) (A) W&, R (R) T |
(D) (A)7TeTd &, W= (R) WEI T |




17.

18.

19.

20.

Which of the following is not
matched correctly ?

(A) CBR : Considers total
population in the
denominator

(B) ASFR : Total women in
each group in the
denominator

(C) GRR : Considers mortality

(D) ASMFR : Total married

women in each
group in the
denominator

Assertion (A) : Rural fertility is
higher than the urban fertility.

Reason (R) : Literacy among urban
population is higher than the
rural population.

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct explana-
tion of (A).

(C©) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

A relationship between curtate
expectation of life (e,) and the

expectation of life at birth (e;) is

o 1
(A) e, =¢e +t5

N [ —

B) e =c¢€)-

C) e, =e —1

X
D) e =e;+1

Which one of the following countries
has the highest expectation of life ?

(A) Australia (B) Japan

(C) Canada

(D) US.A.

21.

22.

23.

According to NFHS 1, 2 and 3, the
respective IMR of India were

(A) 79,68,57
(B) 85,73,62
(C) 78,617,56
(D) 81,69,57

Which one is not matched correctly ?

(A) Curtate . o U
expectation of ©~ X X
life

(B) Modified IMR  fd,

for given * p
separation
factor (f)

(C) Number of : L
persons
surviving
beyond age x

(D) Adjusted
(Standardised) :
death rate of a
given
population A

A pS

Y MAPS
S
L P}

For construction of a life table, the
following are necessary :

1.  Radix
2. Force of mortality at each age
3. Number of persons at each age

Find out the correct combination of
answer according to the code :

Code :

(A) 1,2 and 3 are correct.
(B) 1and 2 are correct.
(C) 1 and 3 are correct.

(D) 2 and 3 are correct.
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20.

Tefetad | 9 i a1 gafed Tal € ?

(A) FE R ;B H FHol SIS H

GRS IR

(B) TUHTF : B HUHH G H
3R et ferat

(C) STt emR
3R

(D) TTauH
TF 3R

: T R TR T g |

: Rﬁmwﬁ
et faanted fewt

AFET (A)  : UHOT WS TR
S 9 SAE |

T (R) : TRE SHE@m # Ao
ST i STUET HIERAT 3THF § |

(A) (A) 3R (R) ST T&l & 3R (A)
FT (R) Tel TETE |

(B) (A) 3R (R) I Wl &, W] (A)
1 (R) Tel T &1 € |

(C) (A) T E, W< (R) T & |
(D) (A) T e, WA (R) T E |

e i e UCART (e,) 3R TH W
ST ! W (€2) T THER T ¢

(A) e =el+

B) e =c¢

o
X X

R [—= D=

(C) e =e5-1
.

(D) e =e . +1

=t 5 € foeg 91 5 e e

SfaEan € ?
(A) sl
(C) et

(B) SmUE
(D) FuaL

21.

22,

23.

T U U9 U 1, 2 3R 3 % 39K, 9Rd
T 3T TH 3R &

(A) 79,68,57
(B) 85,73,62
(C) 78,67,56
(D) 81,69,57

Tetetad | 9 i a1 gafed Tal € ?
(A) FRZSeH . o
ﬁq:ﬂa:ﬁ‘ﬂ' ‘ X X
(B) VST AT U
@) Ffem b T b
ferepet &mé T
3N

(C) A ® : L
Tt S ety
TR 3T
Sifer & |

(D) Tt vea
SHEET A (T) -
EAREIPIIEIS)
(Feh) T X

A pS
Y MT P}
S
L P}

Sigg @it s ® = @ ger
HTTTIF & :

1. oo g (few)
2. U Y W Y WAl il Heordl

3. U 3Ty W ARl Sl G

e o STIHR Tel T I T iU :
H:

(A) 1,2 3R3TEE |

(B) 13R2FIE |

(C) 13R3TIE |

(D) 2R3 TE |
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24,

25.

26.

Assertion (A) Process of
urbanisation is highly
imbalanced due to dominance
of metropolitan cities.

Reason (R) : Regional Disparity in
India is increasing over the
years.

(A) Both (A) and (R) are true and
(R) is not the right explanation
of (A).

(B) Both (A) and (R) are true and (R)
is the right explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Assertion (A) : Large countries with
few States conceal realities of
socio-cultural traits of people.

Reason (R) : Inter-State migration
intra of people is less than that
of inter-State migration.

(A) Both (A) and (R) are true and
(R) is not the right explanation
of (A).

(B) Both (A) and (R) are true and
(R) is the right explanation of
(A).

(C©) (A)istrue, but (R) is false.

(D) (A)is false and (R) is true.

Match List-I with List-1I :

List -1 List - 1I
(a) Law of Primate (i) Mark
City Jafferson
(b) Cumulative (i1) Gunnar
Causation Model Myrdal
(¢) Nearest (ii1) Clark
Neighbour Index and
Evans
(d) Multiple Nuclei  (iv) Harris
Model of Urban and
Land Use Ullman
Codes :

(@ () () (@
A) @ 3> (i) @Qv)
B) Gy @) Gv) (@)
(C) @) @Gv) () (@)
D) Gv) () @O (i)
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27.

28.

29.

30.

The low sex-ratio (female per
thousand male) in the Mega-cities of
India is on account of

(A) Female marriage migration
(B) Female foeticide
(C) Census undercount of female

(D) Sex-selective migration

The Census of India 2001 collected
migration data on :

(1)  Place of last residence
(i1) Duration of residence
(i11)) Reasons for migration
Find the correct answer :
(A) (1), (i) and (iii)

(B) (i) and (ii) only

(C) (i) and (iii) only

(D) (i) and (iii) only

Who, among the following, first
propounded  the  Theory  of
Demographic Transition ?

(A) Plato

(B) Malthus
(C) Notestein
(D) Blacker

Limits to Population Growth are set

by

(A) Sustainable use of World’
Resources

(B) Climate change and Global
Warming

(C) Agricultural Production and
Food Supply

(D) Available
Technology

Information




24,

25.

26.

AFHIT(A) : BRI & A A &
FRUT RG] H AR Sgd
ST & |

T (R) : 9RA | & ST EET st
TN AT EE |

(A) (A) 3R (R) IHT &l & 3R (A)

T (R) T&T LT 6 € |
(B) (A) 3R (R) I W&l & 3R (A)
%1 (R) Tl TR E |
(C) (A) W& &, W< (R) T T |
(D) (A) T &, W (R) T & |

e (A)  : 9 TS ATt SS9
H AN st qeme] AT Toh- TR e
TorIoaTt foT STt € |
@b (R) : @7 1 3R T U
I TG YT H FHEIAT & |
(A) (A) 3R (R) T TE & 3R (A)
T (R) Tl T el € |

(B) (A) 3R (R) T W § 3R (A)
T (R) Tel TETE |

(C) (A) T g, W<q (R) T & |

(D) (A) T e, W (R) Tl € |

T — 11 gl — 1 E AT hife

LG | T - 11
(a) WTEHE Tl =t (i) T
FHEA SR
(b) Tt FROTHIEA (i) TR
e
(c) Mepeam ufqaett (i) Fomeh Ud
SFTSHHTOTERT =
(d) R 99 STAAT  (iv) NG e
T Tg JofeTs HISH 3T
EEE

(@ () () (@
A @O @) (i) @Gv)
B) ) @) Gv) (@)
(©) () @Gv) () (@)
D) Gv) (1) @ (iD)
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IRA o d¢ TR § Wik 3 (A
1000 T&8T 7 f&7aT) & 7 & A FROT &

(A) TSIl o foame o HROT FaaH

(B) AT YUr g
(C) ST | v &t a3ty frre
(D) forT-=afa yaaT

T 2001 H SOAT H TAEH FEEEE
HATRST i TehA Tohall T

(i) AT\ A
(il)  3TTeTE i 3Ty
(ili) VeE % FHROT

TEl I I :

(A) (D), (ii) 3R (iii)
(B)  here (i) 3R (i)
(C) e (1) 3R (iii)
(D) e (ii) 3R (iii)

FefafEd 4 @ gavey e SHifha™

HShAUT 5T ST AfTaTa foha 2
(A) =

(B) wroad

(€) REN

(D) =R

S A AfE H A e
T E

(A) Toea |l & g = 51T
(B) W uied Ue df¥eeh STl
(C) F 3R 3R el grere
(D)  SUcT T SrNfTeht




31.

32.

33.

34.

Which one of the following does not
explain the laws of urbanization ?

(A) Push and Pull factors

(B) Distance-Decay function
(C) Law of Gravity

(D) Dispersal and Segregation

Which one of the following is not
directly related to man-environment
relationship ?

(A) Shifting cultivation
(B) Canal irrigation
(C) Land productivity
(D) Lift irrigation

Which one of the following
indicators is not included in working
out the Composite Index of Human
Development ?

(A) Longevity

(B) Literacy

(C) Per Capita Income

(D) Age at Marriage of Females

Assertion (A) Environmental
pollution is increasing in
Metropolitan Cities in India.

Reason (R) : Large-scale industries
have considerably increased in
Metropolitan Cities.

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not correct explanation
of (A).

(C©) (A)istrue, but (R) is false.
(D) (A)is false, but (R) is true.
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3s.

36.

37.

38.

Ecological balance is disturbed by
one of the following human activity :

(A) Vertical zonation of land use

(B) Adopting watershed as a unit
for integrated development
(C) Mining and quarrying

(D) Conservation of underground
water

As per SRS, life expectancy at Birth
(eg) for female in 2004 (midyear) is
higher than male by

(A) 0.5 years (B) 0.8 years

(C) 1.1 years (D) 1.4 years

Arrange the following States in
descending order in terms of
Expectation of life at birth for
female :

(A) Kerala, Maharashtra, Punjab,
Tamil Nadu

(B) Punjab, Kerala, Tamil Nadu,
Maharashtra

(C) Maharashtra, Kerala, Punjab,
Tamil Nadu

(D) Kerala, Punjab, Maharashtra,
Tamil Nadu

Which one of the following is not
associated with Women’
Empowerment ?

(A) Reservation in Parliament

(B) Compulsory Schooling in 6-14
years’ age group.

(C) Medical Termination of
Pregnancy (MTP)

(D) Child-care Leave




31.

32.

33.

34.

freffed & & @9 | TR 6

Taferat ot T T8t e 2

(A) ‘uFer R @rEr (Push and
Pull) =R

(B) 3Rz & E

(C) o fegr

(D) ToRaRTE 3R STerTa

frefefad § 9 o |1 yogeaar q9d-
TATEROT e § ST T2l § 2

(A)  TIHTOT i

(B) T fg=me

(C) ¥ SeqraT

(D) et (fere) freme

frfeiad Gerdehl § ¥ i AT Tohdh
AA foehr o WIEAST STsRHTUTRT T
T Yo el T ST 2

(A) Stia= =t SEar

(B) WreRa

(C) wicstar 31

(D) &t o faame =t ey

AFIT (A) : 9RT &F WA H
TSI G @E |

@ (R) : TEFTR § 9RI STt et
TgfggEe |

(A) (A) R (R) ST T&l & 3% (A)
FT (R) Tel TEETE |

(B) (A) &R (R) Tl Wl &, WA (A)
%1 (R) Tel Tl &1 € |

(C) (A) T E, W< (R) AT |
(D) (A) T e, WA (R) FIE |
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35.

36.

37.

38.

THERU-Hei (=fafed § ¥ 69t

A foRaT 5T STHqfeTd ia & 2
(A) g\ T ST &5 T |
(B) eI foehrq o feTq wsh gohTe

TG T STA-TIHTST ol 3T |

(C) @ Ud WEH WIET |

(D) ST SToT Sl WREAT |

T R T¥ % STER W & 5 W
STEA-THTE (ef) 2004 (Fe a) qosii

i 319 forc T etfuer & 2
(A) 0579 B) 0.8a9

© ll=w (D) 1499

&t & foU <=7 WX e sl E9reddr &
YR W F=ATeAgd T3t ot feRier 7
T g0

(A) A, TERTZ, U, AHETS |
(B) USTE, XA, AMHGHTS, HERTEL |

(C) ¥R, &el, G, dl?Hleg |

(D) ¥, GSTTE, HERT, dl?Hcdﬂlg |

frefetad 9 @ i 91 Si-g9ifedenor §
et T 8 2

(A) TS H TRE
(B) 6-14 3TF 7 &% T=d & A
fotem

(C) TTTeIRT T HiSehet THTTT
(D) forey e et (3rrhre)




39.

40.

41.

42.

Which one of the following is not
associated with Reproductive Health
of Women ?

(A) RTI

(B) Teenage Pregnancy
(C) Infertility

(D) Nuptiality

In India the share of female
migration as compared to male is
higher in which of the following
migration-streams ?

(A) Rural to Rural

(B) Rural to Urban
(C) Urban to Urban
(D) Urban to Rural

The National Population Policy 2000
set the goal of achieving replacement
of fertility by all the States of India
in the year :

(A) 2005
(B) 2010
(C) 2015
(D) 2020

Which one of the following is a
measure to assess the impact of
family planning programme ?

(A) Number of Births Averted
(B) Couple Protection Rate
(C) Achievement of Targets

(D) Effectiveness of
Planning Methods

Family
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43.

44.

45.

Assertion (A) : In India, marriage
age of boys and girls have
been legalised so as to control
the level of fertility.

Reason (R) : Socio-cultural factors
mainly determine the marriage
ages of boys and girls.

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C©) (A)istrue, but (R) is false.
(D) (A)is false, but (R) is true.

Arrange  different  anti-natalist
policies implemented in India in
chronological order :

L. Incentives

II.  Legalising age at marriage

III.  Population Education

IV. Urbanising Rural Communities
Codes :

(A) IV, IOLILI

(B) HOLILILIV

© ILLIV, IO

(D) LILII, IV

Arrange the following International
Population Conferences held by
chronological order :

L Rome

II.  Bucharest
III. Cairo

IV. Mexico
Codes :

(A) LILIIL IV
(B) LILILIV
() LILIV, I
(D) 1V, IIL 1L, T




39.

40.

41.

42.

frefated & & &4 W B & O
SR W Y T T8 € 2

(A) AR 3E
(B) TopemRere 1 T
(C) 3T

(D) Senfeshar

9Rd |, FEfdiEd Jo98T get § 9
P o/ § Ru-TEaeE 9§ S-uae
AR & 2

(A) Titer g Tifer

(B) TEE TR

(C) TRETR

(D) TR e

AL TG g 2000 R 9RA o
Fel T | IS o UfaeTa &l e
T A o TeTe i |1 o (F) Feiiea
[ERIRIEIE W

(A) 2005
(B) 2010
(©) 2015
(D) 2020

frefafed & ¥ & 91 TReR Haem
TR o WIS o Hodich 1 H1T & ?

(A) TenRa =g g
(B) TR T
(C) oFeT il mfeq

(D) uRER farsi fafeat st
PRICHIGEI]

43.

44.

45.

AMIHYT (A) : 9RA H, TEH 3R
AR & foaTe-3T & A &9
TS & aifer U TR T EhE
ERISIK:EN
@ (R) : AASH-cIeiRal i [aam-31mg
TEAdT  ATHISToh-HIGR I Sl
g1 feiia e & |
(A) (A) 3T (R) IHT Tl € 3R (A)
T (R) Tl TEHOTE |

(B) (A) 3R (R) S T &, T (A)
1 (R) T&T LT 6 ¢ |

(C) (A) TEE, W (R) T & |

(D) (A) Tl &, W] (R) W2 |

Tt SF-g% foredt Aifaar, s 9Ra °
] &, ol SHICHHATIER SITET ;

I wcaed

I foae-3T i S €9 ST
M. S e

IV. TITHOT STETST ST FRISH0T
E T

(A) IV, ILIL I

(B) ULILLIV

(C) 1L 11V, III

(D) LIL 1L IV

S e
HIAHATTHR T :

(A) LILIL IV
(B) LILILIV
(©) LILIV, I
(D) IV, 1L 1L I
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Read the following passage carefully and
answer the following Question Nos. 46 to
50:

Greek thought on population
developed by Sparta, was based on the
concept of City-States. They believed that
citizens were subordinate to State, and
therefore, marriage and procreation of
healthy children etc. depended on the
needs of the City-States. Spartans, who
were  always  warring  with  the
neighbouring States, wanted to replenish
the deficit in population by procreation.
They encouraged rapid increase in
population and rewarded people with large
families who had many children. Plato was
aware of the Demographic trends, so he
proposed measures to be taken in order to
maintain  the  desired size.  He
recommended infanticide, exposure and
abandonment of deformed infants on
grounds of eugenics. To remedy over-
population, he proposed birth-control for
large families, and if necessary, even
colonization. If population decreased he
recommended rewards, advice or rebuke to
the young in order to increase the birth-
rate and in the last resort, immigration.
Thus Plato became the foremost exponent
of Restrictionist point of view and
effectively showed how citizens should

limit themselves.

46.

47.

48.

49.

50.

In this paragraph, population issues

relate to

(A) Population Growth

(B) Sustainable Population
(C) Priorities of the City-State
(D) Immigration

Population issues are the factors of

(A)
(B)
©)
D)

Needs of the City-State
Marriage and Procreation
Birth Control

Colonization

The main thrust of the argument is

on

(A)
(B)
©)
D)

Population increase
Population control

Rewards & Punishment
Effective Rule and Civil Order

The Impact of argument is not
reflected on

(A)

(B)

©)
D)

Citizens’ behaviour to limit
themselves

Abandonment of deformed
infants
Marriage and Procreation

Administrative set up of the
City-State

The tone of the passage is best
described as

(A)
(B)
©)
D)

Analytical and Optimistic
Biased and Unprofessional
Critical and Discouraging

Descriptive and Conclusive
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Feffad a9t = &9 9 ufeu TR wed
46§ 50 eh o ITR ST :

S g eh foaRew, e
foeprg @mer = fopan, TR-Ts (Tgd-we) =t
HAYROM T G A1 | 37k foreemq o o
TR T F T B § sHie foare we
W Gl W TS ARISE
STERAFHATS T SHA & | THEA ST Feel TSy
T | 5 | o7 @ &, I STEET S HH H
TRUTE TS FRT AT 6 & | S ST
TSt Rl IR S Fear fTar SR 37 o
H R T 5k aRar & = sty 9,
IRER §T A7 | wiel 30 SHAEH T H
Tl ST & SH(T 3B 37 WrEAl 1 T
fean 8 aer & sfead SR it s T
ST HHAT &1 | 3R G ST RO § R
It @l | STt il THwET 6 R FH
% fole, 3% 9¢ IRAR el & U S-
=0T, Tt STevaeh &, SUMHERIeRoT o I&Td
fear | afg SEEn | & o ME & At 3%
TR AU R, See-HeeR #iR
TATSAT Y Sl FIRIRE S AR FTH-8 A
T S0 | HR M FRM % w9 H I
M H Al GEET | T UPR Wi
TAUTEET foraReRT o STIOT Hfuresh o 31X
IR TTERTCN &1 § I8 ST {6 fhE WeR
TR 379 T AT & T el & |

46.

47.

48.

49.

50.

T IS § SEE 07 e grafd
g7

(A) SHEE e

(B)  SIEIRTEAIT ST

(C) TR-IF (Fad-R2) =i Mt
(D) 3TveET

ST TR o ek &

(A) RIS (FgE-e)
AL

(B) fo@re we vt

fr=fatad § 9 uitess § St € Sotiet &t
T a5 A ATE ?

(A) SHEE ghe

(B) SHE@ =0T

(C) TREPR 3R I0g

(D) WS IS SR AR ST

fefertiaa W gefier st e fore femm

&t e ?

(A) ARSI % FIER | = 3 i
i et o fetT et T |

(B) forper farspati =t i |

(C) ToaTE Td uet |

(D) TR (qE-E2) & wemars
2 |

frfatea & ¥ 39 T8 & 99 &
[IY QAT &1 9 a0 fhar ST Wbl € 2
(A) TowcivoTTeHe Ua STreTaTsy

(B) AT U STAEHIS

(C) TeleHTHS Ud (Hocaredrcas
(D) SUFTCHS Ud U
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